State if the given functions are inverses.

1) glz)=—2"=3

i 2) gla) =23

o)== =3 o)~

3) f(z)= :I:__ill 1) h(z) == 2; 2
glz)=——7 flz)= 3‘4_32

) g(z)=—10x+5

@)=t 5 f@) =5

IE) =252 g(z)=22"-1

9) 9(z) =3/ 10) g(x) =5
Fla) =225+ 1 fla) ="



Find the inverse of each functions.

11) f(z)=(x—2)°+3

. 4
J"i} g{"r): r+2

15) f(z)="57
17) flz)==¢"
19) g(z)=—(z—1)*
21) f(z)=(x —3)?

23) glz)=—=

r—1

r+3
26) h(z) =—
28) g(z) = -5

33) h(z) =i VE

3) f(z) =5

37) fla) ==

39) g(z)=—=z

12) g(z) =Yz +1+2

W) flz)=—%

16) g(z) ===
18) f(z)="57

20) flz) =22

2) g(x) =§/ =5

32) f(z)=3—22"°
M) glr)=(x—1)*+2

36) f(z)=—7
38) flo)=—22

10) g(x) =—5—




1) Yes 16) g~ Hz)=3z—-9
2) No 17) f l($)——q:r—|—1(]
3) Yes 18) f 1( )= 15+2
1) Yes 19) ¢ B E{f—+1
5) No 20) f 1($)_ —4;:3+12
6) Yes
21) f~Y(z)=3/= +3

7) No N ; ,
8) Yes 22) g7 (= )__:. z° +
9) Yes 23) g7 H(x) = z—1
10) No 24) fHa)=—F
1) @)=Yz —3+2  25) f(x) ===t
= (E_Q)s‘l 26) h™H(z) =5
) 97e) =5 27) g~ Y(x) = —22t8

7)== 28) g Y(z)=—3z+2




